IBPS RRB PO Prelims Previous Year Paper - 2022

Directions (1-5): Study the following information carefully and answer the questions given below:

Aot SRR F7 e qE® STeda oy &Y A= &30 T0 T o I S0

Eight persons sit around a square table and four of them face inside while four of them face outside. Four
persons sit at the corner and rest four sit at the edges of the table. O and N face each other. P sits 2n to the
right of N. L sits just left Q who sits at corner of table. Q faces outside. M and Q are immediate neighbours

and face opposite direction to each other. P face opposite direction as R and S face. S does not sit just left of
P

TS SATh Teh AITRIL HSA o6 AT AR TS & AT ITH F AT FEL T AL I7 E g T IAH ° A AT Al AT
IeHE gl AT ATH A 6 T 9T AT AT A A 6 7 T IS 2

O 3T N Us &Y AT 3T 37HE gl P, N & a4 & AL €A 9T 937 81 L, Q F &V 13 F3T7 ¢, Q ST AT o i T
J3T g1 Q AT AT 3T I@ g | M 3T Q Meveaw T=+t € 3l Us g@< & fAuiq faeom #it 3w 3¥=q@ 21 P, R 3%
S &t faradia faem & ol 3= @ 1 S, P % 31 13 7gl 927 &

Q1. Who sits 4th [eft of L?

L % & & =12 A1 9T Al 987 672
(@Pp

(b)S

(0

(d) M

(e) None of these / TAH & FIs gl

Q2. Who among the following persons face outside?
Aforfed § & F9-97 2Ah 18 6l AT 37T 872
(@aM,o0

(b)N, L

()R, L

@o.r hewLauncn

(e) None of these / TAH & Fls A5l ) T

4 >
Q3. Who among the flowing are immediate neighbour of R? B A N K
Aot & & =9 R &7 Aacaq 9=+t 57 % B
() P i Test Mate| ;
s IBPS | RBI| SBI &
(Z) o others

(e)0 2800+ Total Tests
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Q4. Which of the following statement is true?
frforfea & & i |71 F99 97 82

I. P and Q sit diagonally opposite to each other
P 4T Q U T ¥ i e 43 &

IL. S does not face outside

S ATEY T X I+HE =i 2l

III. N and R are immediate neighbours

N T R Feeaw 7t 2|

(a) Both I and Il are true / I 3% Il T 9T g
(b) Only Il is true / @<t 111 T 2l

(c) Both Il and III are true / II Si< 111 TET T gl
(d) Both I and III are true / I 3fi< 111 THT T gl
(e) None is true / TS W T AE! 2l

Q5. What is the position of S with respect to M?
M % Hq72H § S T €79 7 57

(a) 2nd to the right / =TT & TAIT

(b) Immediate left / T a0

(c) 2nd to the left / ITT & TET

(d) 3 to the right / 7T & TFT&=T

(e) None of these / T#H & s gl

Directions (6-9): Study the following information carefully and answer the questions given below:

AT ST T eqT I AEATT hIToTT 3T A= QT T 7 o I S0

R has 2 children of different gender. A is the brother-in-law of T who is unmarried. D is the cousin of M who
is granddaughter of R. B is the aunt of L. who is the only daughter of K. Q is the mother of B. A is the spouse
of K. T is the aunt of L and have only one sibling. C is the son in law of R.

R % -3 ST il 2 HATA gl A, T T q2-24-A1 g, T ST AaaTi=2d gl D, M & Hoe &, M ST R&T 3 Sfex
g | B, LT &fie g, LT K &t Thardt o2t g1 Q, B#T AT g1 A, K &7 Sta=ardT g1 T, L #T i< &, 3f¥ ITHT shaet T
H2r? gl C, R T #F-Z-1 2

Q6. Who is the grandson of Q?

Q T =8 FI9 872

(a) M

(b)T

(oL

(d)D

(e) None of these / Z7H & &S 7-@'
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Q7. How many females are in the family?
RE § Rt AT 82

(a) Four / =ATX

(b) More than five / 9= & 3Tfer®

(c) Five / 9=

(d) Three / q=

(e) None of these / T7H & &I Al

Q8. Who is the brother-in-law of A?
A FT TEL-ZA-AT I 57

(@)D

(b) L

()M

(d)C

(e) None of these / T#H & s gl

Q9. Who is the mother-in-law of K?
K #T HET-2-AT %I 872

(@) Q

(b) B

()M

(d)T

(e) None of these / T#H & s gl

Q10. How many pairs of letters are there in the word ‘REFRIGERATOR’, each of which have as many letters
between them in the word as they have in English alphabetical series (both forward and backward
direction)?

9153 ‘REFRIGERATOR’ # 3T&1<1 o U Tohae 09 &, S\ & e & = I+ o S(eA g fora 1o sl aurHTe
HGAT (AT 3T I AT f9ra) 7 82

(a) One / U=

(b) Three / T

(c) None / Fs &l

(d) Two / &T

(e) More than four / 9T 7 STT&F

Directions (11-15): Study the following information carefully and answer the questions given below:

e SRR F7 AT IE® STeqaT oy ST A= Q0 TT 7 o I K970

A certain number of persons sit in a linear row facing north. R sits 4t from one of the extreme ends. S sits
3rd to the left of R. One person sits between D and S. D sits 3 to the left of T. Two persons sit between T
and U who sits just left of B. More than one person sits between R and B. X sits 2nd to the left of L and is an
immediate neighbour of B.

RAT sl U [Mi2d JeaT I il A 3@ a1 UF (g Uixh § J31 5| R et ua &ifaqw g § =12 e
T S3T 81 S, R T3 & AL T 9 93T g1 D 3% S & e U Ak a7 g1 D, T F 914 & T T 92 927 ¢
T 3T U % W& T ATh 96 g, U ST B % 315 914 93T g1 R 3 B o 7T UF § ATF ARG 95 81 X, LF I3 |
THY T 9T 937 g 3% ag B &7 [Asean T2 2|
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Q11. What is the possible minimum number of persons sit in the row?
of<h ® 95 SARRAT it GATIAT ~IAaT HEAT ohast gl qahdl 872

(a) 17

(b) 18

(c) 14

(d)13

(e)12

Q12. How many persons sit between R and X?

R 3% X 7 fohqey =af<h 95 82
(a) Six / BE

(b) Four / |ATX

(c) More than seven / &7 & ({2
(d) Three / @9

(e) One / T=

Q13. What is the position of D with respect to B?
B % W § D T TITH 4T 872

(a) 7t to the right / =TT & &TAAT

(b) 27 to the right / a0 & FET

(c) Immediate left / 1% aTd

(d) 3rd to the left / SITT & T

(e) None of these / TTH & IS gl

Q14. The number of persons sit between S and T is same as the number of persons sit to the right of
(in case of minimum number of persons).

S T T o HeT 55 ATRIN il §&AT Ia1 ol &, Torasr o TS AT TS ARTT ol HEAT I (FATTHAT T ~AqH
TEAT % 19 H))

(@) X

(b)B

(U

(R

(e) L

Q15. Who among the following sits near to D?

fReferfera # & 19 D & e F21 82
(@U
(b) B
()R
(d) X
(e)S
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Directions (16-20): In each of the questions below are given some statements followed by some
conclusions. You have to take the given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

T faT 0 T o7 T FAT ST SEF 91§51, (Ao QU T | ST {0 T FAAT w q A AT G, AA
o F FEAT azat F U gt gra gfl a9t [Heewet w9 e Y q fifsre R fRu o ARt § & #oar
Aoy ATHTT &7 & {19 a1 A a7are Ty @A R T St #7 a9 6 SHr waT gl

Q16. Statements:
Some Rocks are Marble.
No Marble is Concrete.

S

RERETRICE ]

1 wrder, e A 2

Conclusions: / Aty

I. Some Rock are concrete. / & T, #hie gl
IL. No Rock is concrete. / Fs ¥, #Fhic Aa! gl
(a) If only conclusion I follows.

I Faer Moy | SIE0T FdT gl

(b) If only conclusion II follows.

Tfe Fae ARy 11 SIE<r 3T 2|

(c) If either conclusion I or II follows.

T =T a1 e 1 97 11 a7 F7aT g

(d) If neither conclusion I nor II follows.

T 7 a7 AR [ 3% T 37 11 STTaET HLam gl

(e) If both conclusions I and II follow.

T R [ 3T 11 T SIgEor FLd 2|

Q17. Statements:
Some City are not Town.
All Town are Metro.

FI:

EEARCARCER G EI

oyt aT3H, "eT 2

Conclusions: / fAsw:

I. Some City are Metro. / = T, wer 2

IL. All City being Metro is a possibility. / &t &t = 2T gﬁ%r #T TATEAT
(a) If only conclusion I follows.

7f% Faer [AewT [ a0 FdT gl

(b) If only conclusion II follows.

Tfe Faer Aoy 11 SIgaeT w2 2

(c) If either conclusion I or II follows.

T2 =7 a1 Ao 1 97 11 a0 FH2aT g

(d) If neither conclusion I nor II follows.
T 7 a1 w1 3fT 7 &1 11 a0 Fat &l

(e) If both conclusions I and II follow.

T Ao [ =i 11 T STTa0 2 &
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Q18. Statements:

Only a few Fish are Turtle.

All Turtle are Rabbit.

S

Fad T (T, 22 2

asft =2a1, ¥fae B

Conclusions: fAty:

I. Some Fish are not turtle. / F& fher, =2 T81 &
IL. No Turtle is Fish. / TS 2&a, fther 781 gl
(a) If only conclusion I follows.

T Fae Moy | a0 T gl

(b) If only conclusion II follows.

Tfe Ferer ARy 11 SIE<or 3T 2|

(c) If either conclusion I or II follows.

Tfe =T a1 e’ 1 97 11 STE0r F3aT gl

(d) If neither conclusion I nor II follows.
T 7 a1 AR [ 3% T 37 11 a0 LT gl

(e) If both conclusions I and II follow.

T e 1 3T 11 AT SIgEor FLd 2l

Q19. Statements:
Some clouds are water.
Some waters are Star.

I

T FATIE, AT Bl
Fg ATeT, T 2l
Conclusions: / fAsFd:

() MAESTRO

RBI GRADE "B’
PHASE-I + II

200+ TOTAL TESTS

I. Some cloud can never be star. / & FATIE, FHT T A5l gl T

IL All Could being water is a possibility. Tt FATIE, & ATeL B I FATAAT g

(a) If only conclusion I follows.

Tfe Fae Aoy | SIgEeor 7T 2|

(b) If only conclusion II follows.

T2 Fae Aoy 11 SIgE<T F3aT 2|

(c) If either conclusion I or II follows.

T2 =7 a1 Ao 1 97 11 &0 F2aT g

(d) If neither conclusion I nor II follows.
T 7 a1 w1 3T 7 &1 11 a0 Far &l
(e) If both conclusions I and II follow.

T Ao [ 3T 11 T STTa0 2 &
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Q20. Statements:

Some earbuds are phone.

All phone are charger.

T T SAEE, B &

asft ®IF, AT 2

Conclusions: / Aty

I All earbuds can be charger. / T Sa7a<H, ATST 21 T &
IL. Some Phone are not charger. / & %I, IS Aal 2|
(a) If only conclusion I follows.

Tf% Fae Aoy | SIgEeor F3aT 2|

(b) If only conclusion II follows.

Tfe Ferer ARy 11 SIE<or 3T 2|

(c) If either conclusion I or II follows.

Tfe =T a7 e’ [ 97 11 STE0r F3aT gl

(d) If neither conclusion I nor II follows.

T 7 a1 AR [ 3% T 37 11 a0 LT gl

(e) If both conclusions I and II follow.

T e [ 3T 11 AT SIgEor FLd 2l

Q21. If in the given number “3852364718” 1 is added to the odd digits and 1 is subtracted from the even
digits then what will be the sum of the digits which are 3™ from the right end and 5t from the left end in
the number thus formed after rearrangement?

T & T TEAT “3852364718” # T il § 1 S{IST SATAT ¢ A O il § | 1 T<TAT ATAT &,q1 [TAaedT %
T2 AT 9T # T X | T4 S 10 S F T4 30 7 TRT ha«r ger?

(a) 15

(b) 13

(c) 16

(d) 12

(e) 11

Directions (22-25): In these questions, relationship between different elements is shown in the
statements. The statements are followed by two conclusions. Give answer.

T AT |, FAAT | AT ac Al o 1= Fare Fw TUTAT TAT 81 FAAT F 918 af Hohy QU M0 8| I QA0

Q22.

Statements, &¥I:
A=B<P=QzT=>V=F<E
Conclusion / Terssd
l:v<B

I-FzA
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(a) If only conclusion [ is true.
i Faer ey 197 gl

(b) If only conclusion Il is true.
7% Fae Aoy 1197 2

(c) If either conclusion I or II is true.

T 77 a1 Aoy 197 [ 97 B

(d) If neither conclusion I nor Il is true.

Tfe 7 a7 AR [ i 7 27 11 97 2

(e) If both conclusions I and II are true.

Tfe fewe [ i 11 <41 9 2

Q23.
Statements / &

Xz]<L£B=K,M=Z<L=R
Conclusion / fassy

l:]<Z

II:R<K

(a) If only conclusion I is true.
I et oy [ 967 2

(b) If only conclusion Il is true.
1T Fae [\ 11 97 |

(c) If either conclusion I or II is true.

i =T a1 R 137 11 97 2l

(d) If neither conclusion I nor Il is true.

i T 1 A [ 3fiT 7 g1 11 97 2

(e) If both conclusions I and II are true.

T ey [ 377 11 TH1 967 2

Q24.
Statements / &

S>2TzV=0=D=A<P
Conclusion / o

A=V

nmo=p

(a) If only conclusion I is true.
7% Faa Aoy 197 &

(b) If only conclusion Il is true.
T3 Faa Aoy 1197 &

(c) If either conclusion I or Il is true.

T2 77 a1 Aoy 197 [1 97 B

(d) If neither conclusion I nor Il is true.

Tfe 7 a1 e [ 3fi7 T &1 11 97 &

(e) If both conclusions I and II are true.

Tz Aoy [ &iT 11 41 97 5
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Q25.

Statements / ST
Q>W=T<K<G=H
Conclusion / feisad ADDA f‘ ,

I: W<H j

(a) If only conclusion I is true. for All Govt. Exams

a2 Fger s [ a7 %’I (Bank, SSC, State, Teaching,
Defence & UPSC)

BILINGUAL

(b) If only conclusion Il is true.
7fT Fae ey 1197 gl 20000+ MOCK TESTS
(c) If either conclusion I or II is true.

T I7 7 9w 197 11 97 g

(d) If neither conclusion I nor Il is true.

I 7 a1 Aohe [ 3T T 57 11 97 2

(e) If both conclusions I and II are true.

T e [ 3 11 ST 9 2|

Directions (26-30): Study the following information carefully and answer the questions given below:

AT ST T &A= g AeqTT HITorT 3T A= &0 T T o I SN0

Eight persons were born on two dates- 15% and 2204 of four different months i.e. September, October,
November and December in the same year.

Two persons were born between S and A. S was born on an even date in the month having even number of
days. The number of persons born before A is one less than the number of persons born after B. Q born just
before B and two persons after R. C born after D and before P.

S ARRAT T S7H T gl AU o6 AT AAT-TT Aol |l AT (HAa, Feay, qaa< i< faHa< & ar [ri- 15
3T 22 T g3 AT

S 3T A % HeT IT ARAT T Sv7 3Tl AT| S T ST+H TH (&A1 il H&AT a1l Tgid § Tah 99 [Of wr gam am A+
Tl STH SAThAT i H&AT, B & T 70 SARAT %l H&IT § U %7 gl Q T S+H B % &% Tgl 3T R F I 91%
STH &7 ATRAT % d18 gl g1 C T 577 D o a1 31T P & g ga g

Q26. Who among the following was born on 15t September?
Referfea & & e S0 15 Rda #i1 gan

(@A

(b) R

(D

(d)C

(e) None of these / TAH & Fls A5l
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Q27. How many persons were born between R and P?

R 31¥ P o WeA fohl ATRAT T ST#H 3T 212
(a) Six / T

(b) Five / 9=

(c) Four /=TT

(d) Three / &=

(e) None / &I 75t

Q28. Four among the following five pairs are alike in a certain manner and related to a group, who among
the following does not belong to the group?

Referfera o= T § & = v [Afed a8 & g9 2 o uF aqg ¥ gafaq &, fufated § 9 f9-a1 39
qE | gated Tal 87

@s

(b) R

(c)B

(d)D

(e)Q

Q29. Which among the following statement is not true?
aferfera & & i 97 F99 97 981 872
(a) R was born just before A

R T ST#H A | 31 98 gl AT

(b) C was born in December month

C T 57 faHaw A5l § gam =

(c) A was born before P

A FTSI7H P & T2l g3 &M

(d) Q and B born in the same month

Q 31T B T S7/ T & Hald # gal

(e) All are true

oyt a7 2|

Q30. The number of persons born before Q is same as the number of persons born after__.
Q & Ug SIvH AT i HET % ATE STH ATHAT %l TEAT & THT &

(@)B

(b)S

(cC

(d) P

(e) None of these / Z7H o &S H@
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Directions (31-34): Study the following information carefully and answer the questions given below:

Aot ST F7 e IE® STeqa oy &Y A= &30 T0 T o I <A1

Pont A is 6m to the north of point H which is 8m to the east of point B. Point B is 5m to the north of point
F. Point E is 9m to the north of point D and 8m to the east of point F. Point G is 5m to the north of point J.
Point D is 4m to the east of point G.

AT HF 6 HiersTe A e, Mg HNI Mg BF 8 fiexq@ d gl g B, Fg F# 5 dex s # 81 U3 E, &g
DF O A g Fr g @ d g g G Mg F5drsaw a8 gD, Fg GF4#T @ & B

Q31. In which direction is point E with respect to point A?
gAFaed g g Efm R a2

(a) South / =ferr

(b) North /3<¥

(c) North west / 3T 9f&9

(d) South east / Zferor q&

(e) East / 9@

Q32. What is the shortest distance between point D and point J?
g D ¥ 1&g | & W =qAaH g1 ohait g2

(a) V33m/ V33 Hfiex

(b)V41m / V41 Hiex

(c) 41m / 41 Htex

(d) 35m / 35 Htex

(e) None of these / Z7H o &S gl

Q33. What is the total distance from point E to point J?
3 E® &g ) % o1 1 et &2

(a) 23m / 23 #Tex

(b) 20m / 20 Hiex

(c) 18m / 18 Hiex

(d) 25m / 25 Htex

(e) 19m / 19 HTex

Q34. Four among the following five pairs are alike in a certain manner and related to a group, which among
the following does not belong to the group?

et o= AT #§ 7 9% us A3 Tl § 9979 g & UF 9qg § g6t4q &, Fetatag § & fie-a1 39
qE | Hated Tal 57

(a) A-F

(b) E-G

(c) D]

(d) B-D

(e) E-J
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Directions (35-39): Study the following information carefully and answer the questions given below:

Aot SRR F7 eI E® STeda oy &Y {1 30 T0 T o I <A1

Seven persons from A to G sit in a row such that all of them face north. Each of them likes different colour
- Black, Blue, Red, Pink, Green, Golden and White. All the information is not necessarily in the same order.
Two persons sit between E and the one who likes red. A is the only neighbour of the one who likes red. D
sits second to the left of E. The one who likes golden sits adjacent to D and sits second to the right of C.
More than three persons sit between C and F. B sits second to the left of the one who likes White. Three
persons sit between G and the one who likes blue. The one who likes black sits left to the one who likes
green and right to the one who likes pink.

A ¥ G TF 97 ATE UH G § TH TH 930 & T o THT ITC AT 30 I g1 SAH o AT I SAAT-3TAT T
THT g - AT, AT, ATA, TATAT, 2T, TS ST Tha| STRAT Al 1oh THT SR SHT HF H gl

E 3T ATl 47 98& A a7l SAF & AT I ATh 96 gl A, AT [T THT FHLT ATl HT THATT T297T 81 D, EF
T | TEL T 9T 937 gl a8 SAT<h oM Teed W1 964E g a8 D & A9 3i< C % a4 8 A &I T a3T gl C
S F o WA 1 & SATer A1k 95 gl B, A WM T6HE i qTel & a14 § gAY T 92 57 g1 G 3T 7 47 06e
LA ATl o TeT I SATh IS gl dg ATk ST HTAT T THE g dg g2 W il THE HT a7l & d1d AT AT T 3T
THE FIA AT 6 &4 93T g

Q35. Who among the following likes pink?
erforfea # & fr et 391 16T 82

(@C

(b) D

(c)B

(dA

(e) None of these / Z7H o &S gl

Q36. Which among the following combination is correct?

Ferferfed § & 9 |7 AT 98l 872
(a) C- Black / C — =1t

(b) A- White / A — T%g

(c) E- Blue / E - H=T

(d) A- Green / A -0 NRA CET Rea dy gilingual

(e) None is correct / FTs ot AT &1 2l

Q37. How many persons sit between F and B?
F 3T B % e foha+ =t 9% 82

(a) One / U=

(b) Two / &T MAHA PACK

(c) None / &< gl
(d) Three / Live Classes, Video Courses,

T ies,
(e) More than three / @i & 31fars Sst Serias, efopa
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Q38. F likes which among the following colours?
F &1 fReferiad § & %19 97 37 998 8?

(a) White / g

(b) Blue / T

(c) Red / &Ts1

(d) Either red or blue / 3T dT &Te AT AT

(e) None of these / TH | &[S Agl

Q39. Which among the following statement(s) is/are true?

et & & =i 91/" 99 97 g/8?
(a) C sits adjacent to D

C, D & TEH I2T

(b) E likes Black colour

E AT W7 986 FdT 2

(c) One person sits between C and B
U FAT<h C 3T B % HeT 907 gl

(d) F sits at the extreme end

F &ifqw &¥ av 427 2|

(e) All are true / F¥T 7T &1

Q40. If we form a four-letter meaningful word by using the second, third, fifth and ninth letter

from the left end of the word ‘MICROPHONE’, then which of the following will be the fourth letter of the
meaningful word thus formed. If more than one word is formed mark Z as your answer. If no meaningful
word is formed, mark X as your answer?

T2 g7 «rs8 ‘MICROPHONE’ & 970 B & THY, TTE, Tr=d AT Al A& AT ITAN Fileh AT AN T 02l
9% I §, AT 6l H & &l A7 TA0T 9157 FT ATAT FAL T IS T & TAF 906 I g Al Z Fl AqAT 31T
3| TS FIE ATAF A3 A5l AT g, qr X Tl STIAT 3L <7

(@o

(b) 1

(@C

(d) X

(e)Z

Directions (41-45): Find the wrong number in following number series.

Feferfra e seer ¥ Toq |@eq7 stra fifsm)

Q41.118, 151, 217, 316, 445, 613, 811
(a) 613
(b) 445
(c) 151
(d) 811
(e) 316
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Q42.18, 21, 23, 28, 35, 46, 59
(a) 18
(b) 23
()21
(d) 35
(e) 46

Q43.2, 3, 8, 27, 112, 560, 3396
(a) 3396

(b) 3

(c) 560

(d) 27

(e) 112

Q44.8, 72, 121, 157, 182, 196, 207
(a) 182

(b) 72

(c) 121

(d) 196

(e) 207

Q45.451, 502, 550, 604, 655, 706, 757
(a) 604
(b) 451
(c) 550
(d) 655
(e) 706

Directions (46-50): What approximate value should come in place of question mark (?) in following
questions?

Aoferfed oIt ® weteg (?) 3 T 9% AR 47 /19 AT A1280?

Q46. 64.98% 0f 479.99 - ? +175.01 =350.01
(a) 125
(b) 129
(c) 137
(d) 147
(e) 153

(15.92)2

Q47. (4.01)’x 2= icor
(a) 2

(b) 3

(c) 4

(d1

(e) None of these
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Q48.3.99 x (? +119.94) = (7.99)3 ——

(a)6

(b) 12 d »
(c)8 BAN K
(d) 4 23 .
(e) 16 Test Mate]
Q49. % + 40.01 % of 249.99 = 108.09 IBPS | RBI | SBI &
@12 others

(b)8 2800+ Total Tests
(c) 15

(d) 18

(e) 24

Q50. ?% of 1050.03 + 363.99 = (27.97)2
(a) 60
(b) 35
(c) 50
(d) 40
(e) 30

Directions (51-55): In each of these questions, two equation (I) and (II) are given. You have to solve both
the equations and give answer

TAH | TAF W § &7 FHIH0T (1) 37 (11) T&T 0 g1 STl I1 TH IR il g AT g A AL QAT g

Q51.Lx%2+7x—98=0

ILy2—y—42=0

(a) If /3= x>y

(b) If/=fT x2y

() If/=fT x<y

(d) If/=fT x<y

(e) If/TT x = y or no relation can be established between x and y/T x 3T y & &= %l Hael TATAT Tl
ERISIEES IR

Q52.L.12x2-7x+1=0

I.20y* -9y +1=0

(a) If/=fT x>y

(b) If/af= x=y

(c) If/af= x<y

(d) If/7f= x<y

(e) If/aT x = y or no relation can be established between x and y/aT x 3T y & 1= Fls Herel TATAT A5l
TRaT SIT 5haT B
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Q53.1.x2+13x-114=0 IL.y3 =216

(a) If/7fE x>y

(b) If/=7fT x2y

(c) If/=fT x<y

(d) If/=f% x<y

(e) If/afT x = y or no relation can be established between x and y/IT x 3T y & 1= I Haer TATM0T Aol
a1 ST TRt 2

Q54.1.x*-6x+8=0 ILy*+2y-8=0

(a) If/7fE x>y

(b) If/=7fT x2y

(c) If/aT= x<y

(d) If/7f= x<y

(e) If/TT x = y or no relation can be established between x and y/aT x 3T y & 1= Hls Hael TATAT Tl
ERISIKESIE

Q55.1.x2—-11x+30=0 ILy>?—13y+42=0

(a) If/=(T x>y

(b) If /1= x2y

(c) If/aT= x<y

(d) If/=T= x<y

(e) If/TT x = y or no relation can be established between x and y/T x 3T y & 1= %< Hael TATAT Tl
ERISIKES IR

Directions (56-60): The line graph given below shows the production and demand (in tons) of items of
four different (A, B, C & D) manufacturing companies in 2019. Read the data carefully and answer the
questions.

== o T YT ster 2019 H AT A@IT-AAT Hqiar w94t (A, B, C 3 D) T a&gell & IcaTad AT 7 (e
) =T ZITAT 1 I=T T LATTIAF T& ST TAT F I )

4500
4000
3500
3000
2500
2000
1500
1000
500
0

A B C D

=#=Production (inton) —#—=Demand (in ton)
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Q56. If 80% total demand of company A and 20% of total demand of company B did not deliver at the last
moment, then find the difference between the items (in tons) did not deliver at the las time?

7T FAAT A T T 7T HT 80% AT FAAT B it Tt HOT &7 20% AT g9 92 foqfa 7 ga g, av sifaw a9
o7 foaia 7l it T FEqel (27 ) & S19 H7 qL FA7d Hiforg|

(a) 1100

(b) 900

(c) 700

(d) 800

(e) 1000

Q57. If non-demanded items of company C were handed to company D and it added these items them in
its demanded items, then find the new demanded items (in tons) of company D?

% et C Y i TR Aeq, et D A T € S S i SE 7 Aeqe i ey wh A S Aol e §
STrE FoT &1, a1 el D st 7 /AT 6l ST ATt a&qu (27 #) A7 o)

(a) 5500

(b) 5000

(c) 6000

(d) 4500

(e) 3500

Q58. If production of items of company C increased by 30% in 2020 than previous year, then find the
difference between production of items of company C in 2020 and that in 2019.

7T fUger o it qaaT §, FHAAT C T FEgel & Icarad # 2020 # 30% F iz g2 g, av Fat C % 2020 & gU
FEQ3 o IATEA oY 2019 H gT ICUTEA o &1 &l AL AT 50|

(a) 750 ton/ =

(b) 1000 ton/ &1

(c) 850 ton/ 2

(d) 900 ton/ &1

(e) 800 ton/ =

Q59. What is the ratio of sum of demand of items of company C and company D to production of items of
company B?

FAAT C 3T FHOAT D T TE3M o0l /T o6 TN 3T FHOAT B AT TGN 6 ICATIA T AT AT 87

(a) 37: 41

(b) 31: 23

(c)13:8

(d)9: 4

(e)13:9
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Q60. Sum of production of company A and C is what percentage more/less than demand of items of
company D?

FAAT A ST C 3T FEGAT o ITATE &0 AT, FHOAT D it aeqani =t 70T | Foraer i sitesn/am 872

(a) 12.5%

(b) 37.5%

(c) 22.5%

(d) 40%

(e) 20%

Directions (61-63): There are three different hubs (IT, Food and Medical). Total number of employees in
IT hub are 800 and the ratio of male to female in IT hub is 2 : 3. In Medical hub total number of employees
are 1200. In Food hub total employees are 400 and the number of male and female employee working in
food hub are equal.

AT STERT-1T g0 (MY, B ST AfSher) €1 et gar § Fu=ATRAt 67 et 9ear 800 § 0¥ oMy g | =0l
T ATl T AT 2:3 gl HISHA g § FHAATRAL f Fed AT 1200 g1 | g9 & T FHATT 400 § 79T
HE Z H FHIH FHLA ATl [EUT AT AigAT HHATAT %0l G931 H919 gl

Q61. The ratio of male to female in Medical hub is 7 : 5, then find total number of female in Medical hub?
HiSohd ga H &I ¥ AgATSAl T AqATT 7:5 8, T ATShed 2a § HigaTall i T HEAT AT i Tor |

(a) 720

(b) 500

(c) 700

(d) 400

(e) 800

Q62. Total male in IT hub are what percent more or less than total female in Food hub?
AL g ° T [V, B g9 H For WigeATen F Fohar swidvera srfers =2 &9 €2

(a) 50%

(b) 30%

(c) 20%

(d) 40%

(e) 60%

Q63. If total males in Medical hub is 50% more than total female in IT hub, then find the ratio of total male
in IT hub to total female in Medical hub?

7% ASFer g9 & ot T2V, MY g | 51 WAt ¥ 50% T8 g, a7 MY g | 1 [0l o< Afeshet ga &
T AIgeATSAl T AT AT o1 |

(@)3:5

(b)3:2

(c)1:
(d)2:
(e)2:

N ow W
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Q64. B alone can do a work in 15 days, while A, B & C together can do the same work in 5 days. If A alone
takes 8 days less than C to complete the same work, then in how many days C can complete 3/4 th of same
work?

B 3Tshel Teh &TH %[ 15 Tl & ¥ haT 8, et A, B 3l C e IHT &1/ T 5 adT § ¥ T g TTX A 3Tohel
ST FTT F QT FA | CH 8 o &7 7ar &, a7 C SHT &1 &7 3/4 AN o a1 § 1 T Ta1 57

(a) 15 days/f&=

(b) 20 days/fe=

() 24 days/fe=

(d) 18 days /fa=

(e) 16 days/fa=

Q65. Aman invested Rs.12500 at 10% p.a. for two years on compound interest in a scheme. If total interest
received from the first scheme he invested into second scheme at 20% p.a. for two years on simple interest,

then find the total interest received by man from second scheme?

U ATk o U JIST | Ahglag o311 9 &l a9 # [T 10% T a9 it 3 & 12500 =92 &1 Haer BFam 7w
TRt ATSTAT & TTH e SATST I ATLT0T AT 92 &l qY o (1T 20% T a9 30t T F FELT A1 | farer o,
T TELT ATSTAT & ATk 3l TTH T TS AT o4 ?

(a) Rs./®. 3675

(b) Rs./%. 950

(c) Rs./®. 1020

(d) Rs./%. 1050

(e) Rs./%. 1080

Q66. A invested Rs.1600 and B invested Rs.2000 in a business. A invested for ‘t’ months and B invested for
(t + 3) months and A received Rs.400 out of total profit of Rs.1400, then find for how many months B
invested?

A9 1600 07 T fHaer 3T 3T B 9 U =791 § 2000 9 7 [Haer fRam A9 't wgi= & forg Aaer &
AT B (t+3) AR o forT [Aerer 33T siiT AT 1400 9% % T 14 | & 400 =93 919 30, a1 B 7 fohaw Ag =t
= forw fAerer foram?

(a) 10 months/AgA

(b) 5 months/ #E=

(c) 8 months/ AEIA

(d) 9 months/ A=

(e) 6 months/ AEIT
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Directions (67-71): The following table shows the total number of students in five different colleges and
percentage of Masters students in college.

A5 gt o= TS et § Sl i o 9 dT i AT § qIrEraE g o raerd &l
FOTTAT B
Note: Total students in any college = Students in Masters + Students in Bachelors

e et o #eTieanera & Fot S = TETas § g + |@d% 6 91

Colleges/ Total Students/ % of Masters
Hglidcarera el BT students/
WIelldeh SIET &l
%
A 1000 20%
B 1250 30%
C 1500 15%
D 850 14%
E 1400 37.5%

Q67. Find the difference between total bachelor students in A and D together to total bachelor students in
B and E together?

A ST D § UHATT T &TdH G131 AT B 3¥ E | THATT T @dH ST HT AL ATT i o102

(a) 118

(b) 219

(c) 231

(d) 178

(e) 197

Q68. If the ratio of number of males to female bachelor students in college C is 7: 8, then find the number
of female bachelor students of college C is what percentage of total students of college C?

Tfe FgTe=med CH T&0 &1da STl ST FigaT ST Gra1 #hl T&dT HT Iq9Tq 7:8 7, Tl Agra=mad C it 7igan
HTAH ST 0l G Agiaarad CF T ST AT haaT Iaerd g2
33:%

(a)
2
48=%

(b) 3

Q% ;7%
(d)

(e) 60%

1

53 ;%

Adda247 | No. 1 APP for Banking & SSC Preparation
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com




Q69. Find the average number of bachelor students in college A, B and E?
AT A, B 3% E ® &Ta® ST hl $i|d §&AT J1q i er0?

(a) 850

(b) 860

(c) 840

(d) 890

(e) 865

Q70.If 42%% of Masters students of college D got scholarship, then find the number of Masters students of

college D who didn’t got scholarship?
aﬁngrﬁaWD%szg%Wra%ﬁwi T FrEAgT HAdt 8, a1 FriaaTed D & TXrETas e i §edT [

Ffsr g g T2t faeft 22
(a) 63
(b) 71
(c) 56
(d) 78
(e) 68

Q71. Number of Masters students in college B and C together is what percentage more/less than that in
college A?

AT B #liT C | THATT |TAhe S0 il §edT Agraamad A H had Tiaerd sireeh/aH g2
(a) 100%

(b) 200%

(c) 150%

(d) 50%

(e) 75%

Q72. A train can cross a 100 meters long platform in 12 seconds. If train crosses a bridge, which is double
of its length in 21 seconds, then find the speed (in m/s) of the train? \LE}!@ '
TF TAMTET 100 HleT & wehid #7 12 T § 97 FT Tohefl g1 Afa S
LENTET 21 Hhe | UF T HT I FAT 8, ST SHA AddT1e F F0AT 8, AT (7,.’, ' MAESTRO
TTTET Y i (H/EEE ) ST e —

o RBI GRADE 'B’
(c) 18 PHASE-I + Il

(d) 20

(@24 200+ TOTAL TESTS
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Q73. A shopkeeper marked up the price of an article by 40% above cost price and he allows 25% discount
on marked price. If shopkeeper earns Rs. 420 as profit, then find his profit (in Rs.) when he allows discount
of 20% instead of 25%?

U THREETE U a6 T o7 77 o7 ° 40% AT sffoha ear g 3T ag difhd g7 9% 25% Fil e <aT gl qfS
THRMEE ATH F €T | 420 FTT FHTAT &, AT SHRT ATH (T H) FTT HIT T a8 25% & T517 20% HF e <ar
a7

() Rs/® 1204

(b) Rs/® 1240

(c) Rs/¥1180

(d) Rs/2 1008

(e) Rs/® 1080

Q74. In an election only two candidates participate and candidate ‘P’ got 50% less votes than ‘Q’. If Q got
200 votes less, then there would have been a tie. Find the total number of total votes polled?

U AT | Fadl &l IFHIEATE 9T o g ST ITHIEA 'P' &1 'Q' & 50% FF 7 fHerd g1 ITE Q T 200 9 FH
TR, T aEadt g1 AT ST U % JAL i HEAT ST i o710 ?

(a) 800

(b) 2000

(c) 1600

(d) 1200

(e) 1400

Q75. The ratio of P’s age four years hence to Q’s age two years ago is 4 : 5 and the average of their age three
years ago was 23 years. Find the present age of P?

T AT q1Z P T A7 S a7 a9 93 Q T S &1 AT 4:5 8 3T A1 a9 TF Ieh! 311 FT iraad 23 a9 AT| P
T FAAHT A AT o702

(a) 25 years/a¥

(b) 29 years/ad

(c) 23 years/ad

(d) 33 years/a¥

(e) 20 years/ad

Q76. The sum of area of a circle and area of a rectangle is equal to 2136 sq. cm. If the diameter of the circle
is 42 cm & the breath of the rectangle is 30 cm, then find the difference between the circumference of the
circle and the perimeter of the rectangle?

U I % &IFhel AC U AT o &A% HT AN 2136 T HHT o6 TUEL AT gl TS I HT AT 42 FHY g 3T
AT 6T FAT2Te 30 FHT ¢, TT I ol T 3T AT 6 TIHATT F S T FAL AT I 1o70?

(a) 42 cm/EHT

(b) 22 cm/FHT

(c) 30 cm/HHT

(d) 11 cm/®HT

(€)18 cm/FHT
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Q77. Average of marks scored by Deepak in English, Hindi and Math is 70 and average marks scored by
Deepak in English and Math are 73. If marks of Deepak in Science are 25% more than his marks in Hindj,
then find average marks scored by Deepak in these four subjects?

2T ETET SiuetT, 24t = riora & 9me it T siera 70 8 3% e g1 SRSt i Tfora § 9T sihi 7 sfera
73 %1 A s & 4vae 3 s (241 & S ot A 250 A0 & 1 27 A1 AT # v gy 9O A 6w
T Frfora?

(a) 76.5

(b)72.5

(c)71.5

(d) 75.5

(e) 78.5

Q78. A vessel contains 80 liters mixture of water and milk in the ratio 5 : 3 respectively. If 20 liters mixture
from the vessel is completely replaced with milk, then find ratio of milk to water in the final mixture in the

vessel?

U a9 H 80 Fle? T 3T 3¢ T T FHeT: 5:3 % AT § gl TS Fa & 20 e H=or i T 38 ¥ 39
H qE (<7 STaT ¢, T a7 § SATad eor § g 3T ITHT &7 STATd AT hiford?

(a) 17:15

(b) 5:4

(c) 3:2

(d) 11:7

(e) None of the above.

Q79. The speed of car A and car B is x km/hr. & (x + 20) km/ hr. respectively. If car A moves from P to Q
and car B moves from Q to P, then they meet in 5 hours. Car A takes 2 hr 15min more than car B to cover

distance between P and Q. Find the distance between P and Q?

T A I L B AT T A eT: x TRei/eer 3w (x + 20) FRet/=er 81 3fe F1T A, P o Q it 3T Fedl g 3fi¥ #1T B,
Q | P &l X FAAT &, AT o 5 ®e | {0l gl FT A, P 3T Q & i it T T e § X B & 2 wer 15 fHee
aTferss ot 1 P 3 Q 3 = it ¥ =T Hrforu?

(a) 800km/fet

(b) 720 km/FFHT

(c) 900 km/fFHT

(d)1080 km/fFHT

(e) 1260 km/fFeT
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Q80. Speed of a motor boat in still water is 18 kmph. If the motor boat
travels 90 km along the stream in 3 hours, then find the time taken by
the motor boat to cover the same distance against the stream?

N N o P ;//‘2/
T % |1 90 et it AT FAT &, a7 WIeL e FIRT 9T & faadq y
AT T a7 Fe § e q87 7 &rar 22 TEST PACK

BILINGUAL

(a) 18 hours/=ie for All Govt. Exams

(b) 15 hours/=< (Bank, SSC, State, Teaching,
(c) 16 hours/5= Defence.& UPSC)

(d) 17 hours/=e 20000+ MOCK TESTS

(e) 19 hours/=&
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